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LS 1080 - 1 MERE 1 1241 P 144 4 1273 o |fERTHIA. 1 4
S S A m m ‘%R
b5 1080 - 2 £l 3163.93 mi | 52| 25 7019 ni |fEETHISL 8 &
S e S99 m m e
LS 1080 - 4 245 F 156 P 51 1 154 mf |fERiHIAL 3 2
S S R m m ‘%R

A
%’%m# 1082 - 1 H 333 m 53 1 310 m

S
igg];ﬁﬂ# 1083 - 1 M 1053 m 53 3 495 ot

53 7 489 ot

S

igg];ﬁﬂ# 1083 - 3 M 1052 m 53 2 377 ot

53 9 377 m™
LS 1084 - 1 FH 1259.76 m 63 2 - 1211 mf |fERiHA. 1 4
S S € 16 m m ‘%R
b5 1084 - 2 £l 297.33 m | 63 2 - 1211 nof (fERTHISL 1 %
S e S99 m m | BER
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o % # H BELHIAE X i A i &
1084 - 3 T 256.43 i 63 2 - 1 159 nf

1084 - 4 THh 280.81 nf 63 1 - 1 182 nf

1084 - 5 T 214.76 63 1 - 2 139 nf

1084 - 6 i 73.88 i 63 2 - 3 47 nd

1085 - 1 T 363.18 i 53 5 322 nf

1085 - 2 THl 2601.22 i | 52| 25 7019 m  fERiHSL 8 %
1085 - 4 T 118.81 nf 54 5 120 mi  fERTHISL 1 %
1086 - 2 H 6.61 m 53 8 5 m

1099 - 2 T 13.00 ni = 54 4 120 mi  fERTHISL 2 %
1100 - 1 THl 412.66 m = 144 1 2036 m {EATHIAL 4 2
1101 - 1 T 407.12 m | 144 1 2036 o fEATHIAL 4 2
1102 - 1 T H 35.43 m | 144 4 1273 o fERTHISL 1 %
1103 - 3 T 128.45 nf 144 1 2036 o fEATHIAL 4 2
1105 - 3 T H 16.00 ni 54 4 120 md fERfHISL 2 %
1106 - 4 T 79.00 @ | 63 11 628 m | fERTHIAS 3 ZE
1109 - 1 T H 36.00 M 63 11 628 i fERTHISN 3 4
1109 - 3 T 581.00 mi 63 11 628 m | fERTHISN 3 ZE
1109 - 5 THl 33.00 i 63 11 628 i fERTHISN 3 4
1110 - 1 JfE e A 227 m 54 9 - 1 194 nf

1110 - 2 i 225.75 mi = 63 10 195 ni

1110 - 3 JfE e A 171 m 54 9 - 2 151 nf
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N
&

T AE i H BELHIAE X 6t Hi F
iim 1111 FH 337 54 8 297
ig%y% 1111 £ 366. 16 54 8 330
iim 1112 it 135. 53 54 7 108
ig%y% 1112 £ 135. 54 54 7 108
iim 1114 it 131. 68 54 11 134
ﬁ% 1114 T 87.77 54 4 120 TERTHISS 2 &
TR
35% 1114 £t 10. 44 54 5 120 Permst 1 %
TR B
ig%y% 1114 £ 132.55 54 11 134
iim 1114 £t 132.55 54 11 134
ig%y% 1128 £ 165. 98 54 13 149
iim 1128 it 898. 62 54 1 789
ig%y% 1128 £ 119. 17 54 2 109
iim 1130 FH 1249 46 5 326

46 6 379
53 10 185
ig%y% 1130 FH 66 46 4 49
iim 1133 FH 219 478 215
i;i 1134 E 59. 02 47 5 62
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